Included in the OTM-RAIL

1 x Aluminium rail profile

4 x Cable organiser clips

m m 2 x Rail end caps

1 x OTM-ARM-S
OTM-RAIL-3 and 4 only

l)

000 = ==,
Q00 pm ==
= 2 xOTM-ARM-S
OTM-RAIL-5 and 6 only

Included in the OTM-ARM-S

2 x 180mm Swivel arm

2 x M5 nylock nut

2 x M5 nylon washer

2 x M5 stainless washer

2 x Black 16mm M5 screw
4 x Hydra heatsink screw

e

- Tw¥

*Cable organiser clips can clip on top
or under the rail*

B

The Aquarium Solution




